Efficiency vs hit

0.5

efficiency vs hits

30 40 50 60 70 80

10
TP hits
FIT_T T _retrain-Tow]

—=— DQM_mKI |
—e— DQM_mkFit; TTﬁNEWdefaulp specPLess1-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess2-lowpt
— —— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
I Efficienc] —— DOM_mkFit_TT_NEWdefault_specPLess4-lowpt

L
"

0 5 10 15 20 25
TP layers

0O 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

o
>
Ul

035

o
w

ﬁlciency vs 3D layers
o
By

5 0.25]
0.2]
0.15
0.]]
0.05]

1.8

Ratio

%02 4 6 8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


